
1. Kay has a business center with 5 offices. Terry has 5 business centers with 1 office each. Who has 

more offices? 

A. Kay 

B. Terry 

C. Both have an equal number of offices. 

  



Try Again 

  



Correct Go to the Next Question 

  



2. There were 5 men and 5 women in a gold mine. The five men individually extracted 3 kilograms 

of gold. The three women individually extracted 5 kilograms of gold. Who extracted more? 

A. The five men 

B. The three women 

C. Both groups extracted the same amount. 

  



Try Again 

  



Correct Go to the Next Question 

  



3. Abby lifted 5 suitcases weighing 5 kilograms; while Nancy lifted 5 suitcases weighing 4 kilograms. 

Who lifted more? 

A. Abby 

B. Nancy 

C. Both lifted the same amount. 

  



Try Again 

  



Correct Go to the Next Question 

  



4. Kevin bought 5 glue sticks, $6 each. Sebastian bought 5 folders, $5 each. Who paid 

more?   

A. Kevin 

B. Leon 

C. Both paid the same amount of money. 

  



Try Again 

  



Correct Go to the Next Question 

  



5. Diane paid $5 for each of the nine calculators he bought while Jerry paid $6 for each of the nine 

calculators she bought. Who paid more? 

A. Diane 

B. Jerry 

C. Both paid the same amount of money 

  



Try Again 

  



Correct 


